13, What is the product C in the series? | 13, Pradffmd Ccwnd?
CH,CN _NiIGHOH |, »  [NG; | CH,CN _MaCiHON | o Jike, |
p—MEDK e g TWsTE Lo
(A) CHCOO0H (A) CH,COOH
(B) CH,CHNHOH (B) CHCHNHOH
€y CHLCHO (C) CHCHO
() CH,CONH, (D) CHOONH,
14, Of thase, the maost basic compound is | 14, 33 8 swafirs s s s
(A) Benzylamine i & 7 -
(B) Aniline (A) W=mEe sedim . i
(€) Acctintlile B) W . m
o (C) wftrenfrems A
(D) P - Nitmaniline P Pamlﬁ'ﬁa‘? -
15 Which bs incotreet b deos ymyopic 15 ﬁﬁmﬁﬂﬁwﬁmmm
(A) Feisin high - spin stare e
(B) Fe isin +2 oxidntion sute ) Fe wid-forw s i
(€) E:Immhprmmmﬂngﬁuf L (H) Fed anfmem w=om + 28
» _
. (€} Fe gt for st o i 2
(D) F;f_spm._;ﬁggpm#me oo v o
mmrhl (D) FedTaTsie %
1. of the surfoce of the | 16, ¥ & wwy =1 Muw= #6000 K
. mmlﬁﬂmﬂﬂwcmﬂdmﬂ ¥ 1oy v o T o g
by o | e e 700 K e
violate which law of thermodynamics :’:::f*.ﬁ“:m -“"?"' e
(A) Zerveth Law ¥
e T Eirw (A) m::ﬁq}ﬁﬂ
(C) Second Law T e i
B Tt iDi ey —
SIPCS-01X/14 -6- Set- A




17.

18

1%

The untertningy’ in the positicn of &
electron i¥ zéro, The uncerminty in ite
mothenmm would be,

(A) o

(B) >hiir

€ <h/2m

(D) zero

The profein responsible for biood
clomming Is

(A)  Albunmins
(B) Globulns
(€) Fibrom

(i3] Fibrmogen

Thie niumber of 1ripcpﬁdas formed by
three different nmino acids e
(A) 3

(By 4 .

) s \

o) 6

' Mrmd‘ spectroscopy for organic
- tampannds involves eletiromagnetic

waves with wave number
(A)  S000-500em
(@) 4000-667cm!
{7} - 5000-80em
{13 S000-667 cm

17. uw whweia A Fafk (vifam) &
sifTETa a=a B ) yos = (FhiEEn)
i T = B0t T

(A} ==

B) =hi{2n
C) <h/2=
(D) ¥g=

18, vE-mEn = % fam st o o
fermgm % 7
(A) wrEgiE= :
(B) v
(€ fraign |
(D) FeefEgr

19, AR e st R -
’ﬂlﬁ"‘dﬂﬂﬁi?

14 3
(8) 4
s
o 6

20, 3 PERE W wiifas S ® e
e gl wim W W (U) Sen
Rk 7
(A} 4000-800 . =t
(B) 4000-667 7. =t!

(€Y SOOME00 #. o
(D) 5000-667 A, =t

SIPCS-01X/14 -7~ Set« A




| 21, Oct-d-ene shows C=C frequency in
its milvared spectrum al

(&) 16B0-1600cm ! (very. wedk)
(B} 1680 1600cm ™ (irong)
(€ L6BD-1600cm " (medinm)
(T Mo peik in this ronge

2. C-nrh‘npyl counpoitnds exhibil the
transitio
(A} o—o*a7—a"
B) g-ctm-—m"n-m"*
(i) o-orn—o*x—n"
(D) Nome of these.

o form )

(A) Azobenzens
(B} Benzene

() Benzylaleohal
(D) Phencl @& & 0

2l AT EREE SR SR C=C
amfrwmh?
(A) 1680-1600 R, H (g7 F7m )
By 16801600 A, W (w=em)
(C) 1680-1600 =, @ (eaias)
0y yew (=) 0 = g

22, TG TR WA 9 aae i E
A o=c".Aa=r"

(B) o—o* a=#'n—n* = N
(€} o-0%.n- :r‘.:r—m!‘tf"—':l r‘i:
D) FEAWEE

a\

™ U Al Y
(C) Fargm WEwEe

1 i T" L
N e . N *
24, Bengald E"Wgﬁﬂd"mudchrdr 2, T et & fem
Whetl mixed bopether and healed in g w1 wre NaOH 3 w1 w73 o war oW
‘ i wmE?
; '_ . (Aﬁ:ﬂ‘ﬁml nlcehel amd sodium (A) TarEE e ot iR
i if" 4 formate arp
() budlnr;l benzoate and methyl @ €t
(C) Sodium henzoate and sodium ' ! L
formate (C)y witteaa Sz FHi Wit s
(D) Beneyl aleohol and methyl () dwrsm HFwRTER i Wiane
dleghol AAFTA
SIPCS-01X/14 -8- Ser-A




Section- B
Physics
(Q.No.-34 to 66)

. Two vibmutions ot right angles o ong
another are described by the
equations : x= 10 cos 5 mand y= 10
cos (3 + 1f2)

Lissajous figure associated with
combined motion Is described by
following equation -

(A) ¥==x

(B) #+v=
) y==x

(D) #=y'=100

. The correct uur.umﬂr driven
oscillator at resonanee s

(A) Amplitude has rrlﬂim"ii‘nllw
(BY Velocity has its maximum vilus
(C) Power input is minimum '

(D) Phase difference: besween. |

displacement and driving force
s

’ hmtﬁﬁgulﬂ‘ﬂﬁ‘nohmnﬁuhqmd
.uﬁcwiu;nudznmhuml The
“Work nesded for increasing jts gurface

| garea to 30 cm? 45 3 x 10 joules. The

surfuce tension of liguid i

(A) 04 Nm
(B) 11 N/m
(C) 3= 10" N/m
(D) =10 N/m

g - §
wifimw 7=
(=. % 34 2 66)

M. T OTw W F FwEEd WU
x =10 ¢os 5wt Ty = 10 cos
(5m + w2) Wit g s § )
I wimiom T 7 whm e
aﬂ!:ﬁtmmt
(A) y=x
(B) r‘+}“‘t=lm
) y=—=x

(D) ©=y= 10

35. wsﬁmhtmmﬁﬁ
e

(A . WP 1 W SifirEan wim
' (B) =1 v it
(C) v nfes =
() Frpaves we sorifes we & e
w4

36, U T TGOS W S o Sy e
3.cm ErgE Wt ¥ | W W W 0B
B 30 oo w3 10
= v w | e A b
(A) DA=gE |
(8) 0.\=g= | h
(€) 3% 10-=gz /=
(D) Sx W= [

SIPCS-01X/14
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38.

a9,

A vector field Aie defined as
.E:‘.'i-".p o s n senlor function. The
value of line integral f A - 4] sround
a cteende of radius R s

tAy mR? [El

(B) 2mR |?'.1

!y Zero
(M Z=Ré¢

A molecule of HCI (dipole) is kept m m
eleciric field of imensity W#nu#m
tnitintly dipoleaxis is. mﬂ‘ing an
angle of 30° with the electric ficld.
Distance berween HY and € i 16 A”.
The Tongue m[mglmmm 5

(A) 236% 10+ Joyle.

(B} 128 = 16+ Joule,

(@ 2217% 10 Jouls, | .

D) 2:3:10=Toulgl ) W
4 as

M‘lﬁﬁﬁ;&lﬂu of S0 Henri and a

sesistor of 1082 ore connected 10 a

-mm Time constant and fing]

'_ L cxmtn‘ihnh:cmﬁtar:
VA 05 sec, 0.2 amp

{B) 5 ueoe, I ainp.
(C) ‘5see, 0.2 anp,
(M) 3320, 2 amp,

37, ww whm @3 A, K=Vy T
wftwi fen mm & 1 @ T st
wER 3 | R e & gw o ot ain

st fon wawes §A-d1 =

|_'_ mﬁ,‘ﬂ.ﬂxlﬂ'ﬁ‘-{ﬂ
B 128% 100
Yoy 2219 % 10reEm
(D) 23 % 1053w

39. wE 50 T ST e T 10 O
‘witity 2 arz S AR AR | i
=1 Faa enre w8 m FniE
ﬁi"lﬂt:

(AY 0.5 FEm, (0.2 anfRn
(B) 5¥mors, 2 switm
(C) 5=ws, 0,2 =i
(M) 0.5 fwwg, 2 wedim

SIPCS-01X/14
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wa R
A nr A
(B 'Emﬂ!;q
©
M 2rR 4

38, e HOI(fige) sy 0V ,'::ggrﬁ.'i. .
o 5 forge G R ® | 2o
TRy s g de A 309k wm W
%ﬁlﬁt: AET | oA Fgh

- il‘ﬁﬁamﬂmﬁ




40, A proton of energy 3 MeV 15 moving

downwards in 4 vertical plane with
‘magnetic field of 1.5 Tesla, Magnetic
field I in the borizontal plane and is
puinting from South w North. The
force on proton 15

(Al 737=x10"N
(B) 837=10r"N
(C) £37% 00BN
(D) 6% 1N

In @ hydrogon atom an electron makes
6.4 x 1" revilutitms/see, the
proton ina cmlu arbit of radivs
5.1 = 10 The equivalent

magnitic tllﬂmtﬁi i

a0,

41

T 5 MeV =0 W UER seshn ws

1.5 Toven & grada &3 # arageh
niwmr | e g 6 T ahe
6 o =R T 3t AW AT W
o FE =T wE T afEr g

(A) 737 10-% =g
(B) 537 = 107 =7
() 4.37 % 105 =gz
) 6% |02 A

s Ty A S SR

3 5.1 % 107 oft. s SgweRn o

#6H X lwmn&mﬂwﬁ
wilnﬂuﬂ‘tmmt

(A) 98% 10" Ampum® - A 98 % I_ﬂ‘.i'?‘._rim.ﬂ‘
(B) B9x 10 Amp. mt ) S0 i, o
(C1 495 10 Amp, m® - (C) 4% 107 Frwdy,
(D) 445 107 Amp. mi i, ¥ (D) 445 % 107 3, o7
42 fm}ﬂ "'H'l u:lﬂi increases: | 42, 10 firedt ot o) wast § 0.01 Gy
% one pmpere in AN A RE IR T
I_iﬂl _Wﬁmm.l:mfm&ucml har e ) vt S 2
Lo TV TE WA B ;
| {A) 1 volt 2 e
(By =1 volt
(8] -1¥%=
(C) 0.5 volt
(C) 5 awe
(D) =2 volt
(D) -2 drez
SIPCS-01X/714 -17- Set-A
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M3, Inarteal pas-obeying Vander Waals | 43, wmam-zvam a % g afaw oo
equation Boyle temperature (T,) and (T, ) o i s (1) 3erer: B
aritical temperaturc {ch ure
respectively : T = fa T _&

§a (A) T 7Re" ¢ Rb
w To=zes T"'H
_ o
l & ' {B“ TB=E‘TEZIT“
t‘B] rn= En '1[.‘_—' ETE
v 1 8n
2a . 8a (O = 5p" ' R
© Th== ! rtzm Rb XiRb
]
8 m Taimo o Te=Ty F
Ty= e | B %) j
(D) Rh ¢= 5 F- 27 .

‘@ A carnol's e _absorbs 100 44, TS wE YR ﬂﬁm‘ﬁl 100
cnlunnsurhomﬁmmmitm m%ﬁ%ﬂtmﬂi
nt400 K and gives up 80 calories to o w50 e T
smk. The wemperture of sink is o 'n' L
(A) 500K | ta)so0 s
(B) 20K . % 120 Feim
)y 27K . X Q 297 el
Dy 47K = U D) 47 Swir

|45 Inm:dﬂgnuf’mnlﬂplmmmn 45, W iy fw & s ) e
dugrees m{r&lu‘ﬁ the ratio of n# 158 T o sropE i e firem T

B im]’*ﬁmm) o3 fafime swn (C,) vA Ffrs o
at constant volume ﬁhm{c}mwm

=, (A m

- )

i ) {B] (! ;.I

2‘\

(C) 3+"] = n
1

29

( 1] () [H‘-‘

oy | 1+= L
| n

SIPCS-01X/14 -15- Net-A
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4h. The correct relition for entropy (5)
and thermodynomic probability(Q)
of o gystem'is ;

{k 15 the Boltzmann constant)
(A) =02

B) s=Mhifl

{Cy s=knQd

M x=gh

47, The Planck's formula for aversge

energy of an oscillator matches with
the clnssical formuls in, d:lfu'l‘hmng
limitme case

(A} Frequency of the osciliator is
viery smatl

()
()
()

Temperature is low:
Small wavelengths
hvz KT

For an ideal gas: uf*mulﬁ:uﬂcﬁ“thr
carréot relutioh Between sveripe
!-WWTmhtnmaﬂsqimre speedd

M‘ﬁm ‘probable speed {Vr}
uf mnlmlex:h

- Vs Vi<V
(B V <V, <V,
) V?:-'-.-fw-}\fm

(D) V, <V <V,

|,

46. wF T % fom vt () vE e
wyfamay () d w1 avwsu 2
(k wiwewme Frans)

(A) ==12
(H) 2=infl
(C} s=&kn 2

) s=ct

i

47, wﬁmmﬁmiﬁqaﬁmmw-.

:[sﬁmﬁ!aﬁiﬁrtmatml
AW T R

(A) Wﬁﬂﬂ@%

8) mmmt
L Q@ ol w3
:'t[!_lj _iu == kT

48, v yeEmi M F awpm = B am
i (V) wd e gm v (v
SiTiyEEA WA G H W e

(A) V<V, <V
(B8 V, <V <V

© V3V, >V

(T "y'" < V'_r_ << \r‘n

SIPCS-01X/14
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49, Ultrasonic waves are (choose cormest
statement)

(&) Elegromegnetic (E.M.) woves

of large wavelengths
(B} EM. waves of high frequency

(C) Sound waves of large wave

lengths
) Sound waves of high frequency

Two witves with intznsitics in the ratio
3 : 1 produce intedference. The ratia
of maximum (o mininum intensity is:
10:8

By 9:1

{Cy 4:1

(M 2:1

(A

M$Iimillumggtc5_lﬁﬁlﬂgt{ ghitof
650 nm wayehmgih are sepnted by
s dhmmﬂ,‘nﬁﬁ.ﬁﬁ interference

ﬂ.

| 3 Y ¥

49, sgrddiw (wwsr) 7O (W wee
W gTE )

(A) wwafaw win fof o) Tagm-
g (7. g.) 7

(B) == o B T W, W
(C) aveafires won Bed o) ot Wi
(D) =3 Sl st el wi

b e T e 3 T

#
(A) 1080
() Bigm B

=

.

!‘“. ' “@] 2

G50 nm wonded waE A wwiE §

50. q‘#mﬁﬁnﬁﬁmﬁima@uﬁnﬂ

51, =t v Rrewy s ) 1. WL 2

e oE S g | . g

_fﬁﬁmnnnsnnm gis il
g‘ﬂ"l N8 ifiia, The distince v Fikv v der e fiiw S
betsveen fifih bright fringe and tris o

o durkfringe is
> I i (A) 065 w1 o,
{ {A) 0.65mm
{C) 3.25 mm (€ 3254, iy,
1 4.88 mm () 4.88 o, .
SIPCS-01X/8E4  -20- Sef- A




5L The resolving power of a grating in | 52, wNPeifa S fumt i d
m™ order with N slits will be : Fratedthr wra (e aoan) wRi -
{A) m+N (A) m+N
(B) m-N (B) m-N
(C) mN (€) mN

_ . g Tgserds fovwes W wrumm (o-.my)
. A doubly refracting crystal has .
refrictive indices of 1.65 asd 1 48 for ﬁm’“{_ iy ""“”}mt?‘
o and e ray respectively. The w165 148 71
minimum thickness of crystal needed 600nm amtdmﬁmtm, .
to introduce & phase difference of %/2 S ) amerrres A e Rl
lunmdemy[m'llﬂilnf_ﬁ@ﬂmni!: ﬂuﬁ:h‘l‘li m’l'ﬁtﬂﬁﬂ
(A) 1.76pm L
@y 2765m (A) 176um, |
(Cy 1768m ) 2LV
oy 27 (Cy L76m
0 m 1 h h
(B) 236 0m
Let ‘o’ is the transiational yecior W OR U w5y oftie =
defining o cubic lattice, Then T EETATRTN BRw o' § | e
mpmmmﬁmpmﬂﬂn'} TR (1) T S wm et §
pluu:sl;'
. @ a
(A) 'i- : '
® 7=
oy 2 7
(B) B
@
4 () 2
@ 5
&
a ( 3
() 3
SIPCS-01X/14 -71- Set-A




S6.

R-rays of wavelength 0.74 are
diffracted frum a cuble crystal
e = 2.8 A). The Bruge angle
{zlaneing angle) lor second crler
diffraction maximu from (100) plane
s

(A) st (0.25)
(B} win! (050
{0 =o' (T0)
Dy sie! £0.12)

A lerromigrhetic  materinl s

converted into prrumBgRetic miaterial
at i speein] renipeentiure T, The

temperature T is omowrmas

(A} Critical tempertare
(B) Boyle temperanme

(C) Curle teinperitule -
(D) Debye tempammge’
& 9 h

:'mﬁ"ns,e enetpy of the elecron

55. 07 A e R w -Fedt o af
e (o = 28 Ay Taafa o §
| L00) vt & G @it & Tedr
at=ts & fewan wmn (glancing angle)
%

(A} sic? (D.25)

(B sin! (0.50)
() sin (0.70)
(D) sin! (0.12)

57. = FEEE A9 W e T ol st
mf‘ﬂ‘lt:.

(s (A) Fota St s st
l‘L JUB) Energy needed 10 remove the : .
eltira Bt B B {B) uﬁi:mﬂzﬂq’l‘aﬂ WA EE
% Trm smaves w1
iC) Maoximum energy of elecaom _
(C) w0 stfine ==
(DY Mimmum efergy of analeston ) '
(D) geagta & =g
S5IPCS-01X/14 -22- Sei-A
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58. The effect of depletion layor in p-n | 88, pn Sevm A Feawitem = & woE

junetion will increase wr h:
(AY Temperature of junction is : -
fiecanisi (A) o & waEn | g e R

(B) Temperature of junction is (B) ey 3 e & ¥ |

decreased (C) “wrw uys ar 8 R |
(C) Junction is in reverse hiss

(1) Junistion is in forward biss

(Y s amamagd|

59, A particle of rest mass m, moves with | 59, m%mmwmiﬁvhﬁ i

prdﬁf:,tfimwﬂﬂﬂﬂf e s frgm A g
mmlﬂiﬁ: ] 3 [
A i, ©
l z {A) 7.._7 o s |
(A) :‘r‘i‘-'-"’r.rﬂ" - AW
® Fonge
(B) V2, e i A%
1 jlfe'.‘]. mutz
C) myc?
1 8 of ‘ (Dy g
®) T % - a2
60. Thewatio ﬁfﬂﬁ’&mgl’m wavelengths | 60, o5 10 keV Saf & o2 wd | MV
_ussocimed with a proton of energy = & g A W ff - a3 wn
10 keV and & neutron of energy 1 A
MeV approximntely is : S =1 st wen
(A) 1 R
(By 10 {B) 10
(C1 1o (Cy 100
(D) 50 () 50
SIPCS-01X/14 -23- Set-A
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. The normalived wave function of a
particle in the region 0 S x <o iz

il .
ix}= —L‘ﬂ'S—{ angd | ds zero
a i

oustde the region. The expectition

value of position of particle 15

(A) O

(H) a2

(0 a3

0 a

The radius of b stable huclcus is 1/3

of radius of O3 ! 5. The moss

number of the suble aoclensds 2

(A 7

my 2 -
.‘ p s .

C) 63 . T\

() Nﬂi‘ﬁu‘{,.ﬂg@ ahove

1 - L] L b ]
I' "-I

g Jﬁbl o ehargeteriate of a

s {M Perfeqady cohorent

(B} Pedegdy monochromatle
() Lezs intense beam of liaht

(1 Perfeetly paralied bearn of Hgh

61. UE HO W TRIATA TS A WO WA

D<xsqdma yx)= ‘Ems{i t
v 3 G aTe W () = 0 & | wreR)

ferfa wromrn g B .

(A) O

By 42

(C) a3 -

D] & 5 7
o B %
' LY )

- ]w y X
mmmfﬁhm

R o i 7 ‘Mﬁﬂ]tlm

(D) s & &

e § 9 == w wiasen LASER
W A TRy ?

(A) st wa & g
M) vl w9 v oiiE
(L) =7 vz v - g

(1) ol wATTE T - g
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&4, Mux'unl;mm:!mi.m':lmm distances of

a6,

a comiot fronm sun are 149=10° and
7w 107 km, respectively. If muximum
speed of comet is 6 x 10° km fsec then
its minimum speed would be -

tA) 3 kmifsec

(B) 4 km/sec

(C) 6 kmfsec

(B} B km/fsec

Time period of ui:-i!!.ntim of o mnss
m suspended from & 4% spc.

If an additional mass of 2ke. is °
suspended along wni:li. l&mpq'lnd:

increases by 1 sec i
{A) 2kg
By Ikg
© 16kg

(D) 26ke .

me nf an oscillator
is Ulx) = g+ b o+ idx’, Necessary

64, W ST T T A ST O S

ity w14 ¢ 10" 7 = 107 km
f | amogmdy ) wfrsaw ot
6% 10F kon Jsec B, 79 =qs win wv

(A) 3 kmisec
(B} 4 kmfiec
()
(D) 8 kmisce

G knifsec

6. wﬁnﬂmmmmEW:

m'!ﬁmthwﬂggwsﬁlﬁa:’
FesrTs T ovowE e
| #mvz &t gl BAm § ) s

Lzah SR

SEETS
) Tk

(€ 1.6kz
(D) "2hka

66, ww  wew W i sl

Uizl=a+ bx+ cr 4+ d¢ B 1915

. ;p;:;::mﬁr mation o simple s i P s A S
(A) 2=0 (A) a=0
®) b=0 () =0
© e=0 (€ e=0
© d=0 ®) d=0
SIPCS-01X/14 -25- Sel-A
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Section - C
Mathematics
(Q.No. 67 to 100)

67, Forany vector d,

(@i ) o dx I)J-'E:a:(ﬁﬁf)_
it equal ty
(A) 2
B =2a
iy &
B -a

Which of the fc
group?

(A) S,
B owaw]
(CY ((Tui=£ =1]

Sl @
P

|vE - ®
witra
(%. ®. 67 & 100)
67, Tat whemain d & o

xcfand )+ i@ ] J+kxfixk)
-

(A 23

(B -2a

iy a
D) -a

Bl I]-#“'l.‘.":]
€ =<1}

) [1,~1)
l: g o for the clirve "
' 69, ww s =a log mn[%"’%] LREG
' -..tmg’*%]hxim-hr- g e B pe e §
sy (A) a secy
a sect (B) msectyr
b ucosty (€] acosy
(D) asiny (D) sing
SIPCS-01X/14 -30- Set- A
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0. Hﬂ,:landamr—ﬁtm lima, 70 wla =14, = (32 $9 lne-=
is equal to
(A1 O
(A0
B} 3
{# 3
Yy 4
(i 4 &2
(e 4 =
TL  The séfi T—T-i—l—l-l— mn |—1‘|'-l'l+"—um -
. series | —+2—4 Uplo == L 573 & Po =
his the-sum d
(A) O
(A 0
®) ¢
B) e
() dog2
€y log2 b
W es
72. The sum of the dharactenisteroots of & 2
2 72 ﬁ&w[ 7 = T W
o,
| s equal to = =
3 W
{A) 5
(B) 3
@ 18 © 18
(I 20
my 20
SIPCS-01%/14 .31- Set-A




i Y
7, Valweof [[(8-) de moquizn | 73 [[(8—5) dxwr e

SIPCS-01X/14  .32. Sete A
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75,

T6.

| --:¢ £at |
o wfl)

I
D) iwequal o

(A) e oo dy
(B) & [Qe™dx
© emfoemds
(D) r'l"‘J'Qtr"“’dr
L {ﬂrﬂ} is egunl to

(A pan 4

P

(ST

(D) Mone of these

75,

76 L

|
D)
(A) Ed'jgf_wlﬁ'
(B) e[ Qe

i f'“’f{}e":it

m} r-r.!: J-Q'r |r:r'h.

(10

(D) o= 2 = =l
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TH,

77, General

solution of PDE
Az e
5 a0

A =@ (y+x)td (y—x)
@) z=@(y+x)+p(¥-2x)

@ z=@ly+2x)+f(y-2x)
(D) None of these

If F=xi 43+ 26 then div(?) s
egual W

(A) 3
{8y 1
© 2
m o
. A
ok o mZL:T:'-l

o _ﬁji Eﬁzn R

mA t
(A = (y+x)ra(y-x)
E=ﬂ(y+x}+¢;[}-h)

2= (y+20) ¢ (y-2x)
yait @ T

(B)

oy
D)

R F =i 4y 42k B ﬂ@
ws NG

79, wR Y, st 10, S wd wyediw,
it @mnat & s R, w afiw
et A dim V =
(A 1
®) 10
cy 9

) 1
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81 "Every finlte group is isomorphic to
some parmutation groug”, This result
is known as

(AY Cavchy theorsm
(B Cayley thesrem
(C)  Lagrmge theorem

(D Fundamenmial theorem on

Homomarpliism

81 FGasafimiecyciic groupof order n
then Of Aut-{G1) 15 equal 1o,

(Al bla)
{B) n
(C'y wt

i3

. whﬂlﬁm&ﬁmucluw

g

- {,ﬁu} N (Ser of nutaral numbsers)
By & (Set of inlegers)

() R (Set of real mumbers)

() Q) (St of mittonal numbers)

B0, "'weaw wirfaw gy e wesn W
wErEiE ¥ up e @

(A) =i
(B) & afa
(0 #w wi

(D) wemanien w1 e T

-

BL = G e wii g § R g
wwws § 9 O(AW (GY)=.

(A) ﬂ_({t,'r
TS
"*.{(.:'} W

m) 1

82, Fr=fwimm & & wiv W wgwy g T
&1

(A) N (urgfes womsl =1 ags)
(B) Z (quie w wy=m)
(€) R (ureits dons = A=)

(M) @ (ofrra e = =)

SIPCS-D1X/14  -35-

Set - A



http://www.recruitment.guru/employment-news/

L- gﬁﬁm following is & compae

A) R
® Q
wy N
(D) Cantor set

$4. Order of convergence of 5
i Regula-Falsi

(A) 1,618
B 2

8. Freferfan & # 9f @1 wqer w27
(A R
B Q
) N

(D) W wopas

84, T Feufit ffty 281 arfereror =t ...
EiE

(A} 1618 e

85 wfy u=x+y-z. v=x-y+i,
w=x"+ 3y 4 =2y TR

I.'“ oW
£y 2 g

tA) 1
@) 0
(cy 2
m 3
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%
86. Valueof | sin' xcos* xdx s equal
-u

(A)
@)

loy)

A U
then

(%) =10,0)

) FO0r=0, £ (0,00=0
B L0.0=1, £©0=-]
(€ £ OmM=1 F{e0=1

1)) ‘f.{n.ﬁ'}=-f. -f,{l]-mwi

.'1-
'.::-I 3 -Ex.#lafmw:!
fley)= ;|-|.r"l_n|-r_1,|" = 1

%

86. J- sin’ xcos' xdr=
0

(A) 5

dr

(B) 35

© 355

™ 0
L

Xy

i, 1
+y

Y]

(WS E S
fix )=

L, v =1(0,00)
g

(A) LO0=0, f{00=0
B) £(0.0)=1. f£{0,0=—]
(€) f0=1, f(0.0)=1

(D) L0M==1 f0.0=I

SIPCS-01X/14

=37 = 'Se‘lu‘!_




88. The improper mamj.‘,_;,-"“ 8. m.ﬁirm.lu_tﬂp."‘w
s convergent if Lol ol -
(A n=1 (A) n=1
{B) m>1 By m>d
© n<l © n<l
(D) none of thess M) w8 & wg

89, (1+if+(!
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$. Il a [y dare roots of the equnticn

9L

=1 =0then(l -a) (1 -P(l-y)
(1 - &) isequal In

(A} 5
(B 0
w 4

) 6

If f=xi+yf+zk and's iz surfoce
of sphere 7 + y* £ 2 = | thep

[[ 7 s
(A) dg
® Fom

Gl

(D 0

9. w1, by S wiwm - | =0 e

51,

tRd-D(-pHU-N(1-8=
(A) 5
(B) 0
) 4

@O 6

aft f=af wyj+zbaiv 5. win

RS ET= 10 et dhweee § W
4

(A} 4x

(8)

(Ch

D) O

SIPCS-01X/14

139-




92. 1 P{x) is Legendre polynomial Gf
degree # then F(x) is equal 1o

)

1)) %x"‘--t

© 2ot

_hmlmm puknt” This resull

(A) Heine Bovel theorem

(B) Bolzano-Welerstrass theorem
(€ Rolle's theoram

(0) Cauchy tiearem

92, Wi P(x). nwR K fordst wue W
uﬁnmtﬁﬂx]miﬁn

(A) -;—(Sv’ ~1)

™ 4

9. “wene snftfon giteg spme wwa R

e g s g o #  wde f
(A} T - ¥itm oia

(B) wiwm=t =mgsma Wiy

(C) rer wit

(D) =nft wm
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85, Number of ideals in o feld is 95, Sy W orsrEs o wen T

b |
(AY 1

(A) 1
m 2

B) 3
{c' 3

(Cy 3
(0)@ m 0

S T (N 3
9. rmr[ﬁ 4]&%-[@@{3@[ 96, U A= L

=0

Jﬁﬁmfw} A=

0 0

@ o o] J ¥
[1- ‘:I A\ (8) [{l} T

(B)

[-=1 0
Ll [0
(s [I} _,] o ln —E]
®) 2 ) 2

SIPCS-01X/14 -41- Bt A




; (2 o (n _ (&) o ®
X, K%, == UpID oo is equal 10 XX - = upto oo =
() 1 (A 1
@ - S m -l
o cy o

A 3 Ay =
0’ 3
B 3
L]
© -
1
® 7
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¥ ¥ ¥ .
W, Ifw=12x9 [;]“ﬁ'[‘;] then | 99, =R w =1 ¢ [%]*4‘[:] w
aﬂ aTrl' li]u d’u
I.a_‘—f }“a; iz egual to .z-;z-v_v-— =
(A} & (A) &
¥y ¥
(B} =q 7 (B} xd ;J
¥ ¥
© ) @ 3] f
(o o D) 0
100. 1 xjl+y+p/iea=0x2y, mm.gﬁx _p+yaif‘:+x=ﬂ X%y,
iy P A
then i i5 equal to | _-%4
|
| [ !
(A} (I+;¢;I=.-_ (A) {14,1)’
e 1
AB) B (14 )
C C !
© we ) Tax
(D) None of these ) (D) % & = i
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INSTRUCTIONS REGARDING METH

(F ANSWERING QUESTIONS
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(Mouse use Black ball-point Pen)

Methnd of Marking Answeors :
Tomwwer o quostion: please dorken oie
bubble oul of the given four, in the OMR
Amswer Sheat againe that fueition,

Valyation Frocedure :

Theee wee (oo alterfmive ansivess 0 a
question, only one of them imcarect Ope
mark will be awanled for sach comect
ansiver, U more than one bubble are
darkened for o guesthon, 1@ will be
mesamed ( the cartidste doss not oow

the: comes nnawor henoo, o prk shadl
be iwwarde)

ﬂwmnmhnwﬁl%—-l

tubshile with hlack ballpolatpe; therefore,

coneot answer shoudd be carefully chosen I

hefine rarking it on OME Anowes Sheet

Handing avi
Invigiiator
il M qp!‘t,‘.‘h;s‘t I.il enttics in the
‘m kg peopetlyie
Mame, - Rn-ll, 0., Signatures,
ﬂuﬂﬁmmmm o, wle:
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BOOKLET WITH THEM AFTER THE
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SET-A

Time for murking all 100 Questions : 2,00 Hours Muoxbmyim Marks : 100
el 100 Wt St s e W uwe 200w Fhr= %5 - 100

Note

This paper has Three sections, Section-A Chemistry ; (N0, 01 t0 33), Section-B Physkes -
(G2 No. 34 10 66) and Section-C Matbematics ; (Q.No. 67 10 100}

Thits question hooklel containg 100 questions numbesed fron | 1 100 and euch question exry
| mazk: All questitns ae compulsiory. There 18 no nogative marking.

Tally the number of pages alongwith no, of guestions printed on covier, page ol tie hodklel,
Algo check By question bookler comtmns the guestions of pll releva subjectsfopice, astequired
and stated ahove and oo repetithon or omition of guestions b evldent,

i uny discrepaniy bs Tonod in the Quemiting boeklet the same can be repluced wi ]
enrrect quisstion honklet within fiest 1S miiles.

Before ansiwering hi questions pleass read carefully mmmmmhﬂ:&ﬂm
pige of the question boakist and stricdy follow them. Indicate Mihﬂllﬂg
hubbles t:nrthllr d‘lﬂlﬂ the OLM.R. Answer Sheel pwvwré

U of any type of galeutiton, mobile phone o wny uwmnﬂhmﬁncm und log table
ete. {5 strictly prohiibited.
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H %
™ R 1 AW EE R, wtq':ﬁmm'ii : (W% 01 | 33) mvE-a ifew .
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mﬁﬁﬂiﬁ?‘lmkMIHImﬁifﬁ‘ﬂﬁﬁmﬁiﬁﬂtIMWm :
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O L WET T W1 S G w0 TIE e v s @ A | we# .
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) |
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Section - A
Chemistry
(Q.No. 01 to 33)

Which ls most acidic among these?
(A) As O

(B) SbO,

© NO,

Dy PO,

Which ol these is most basic?
(&) 80,
@) ALD,
© S0,
) BiD,

The maximum oxidation state of
osmiu is

(A} +0
(B +7
(©) 48y
@) #d-

Tht electronic configuration of
*gadolinium is

(A) [Xe) 472 50 6s°
(B) [Xe] 417 5! 6s°
() [Xe] 40 50 65°
M) [Xe] 4f* 5 tis*

5“

W - N
WS W
(. ®=. (1 % 33)

v wmafis el Wi R 7
(A) AnO,

(B) §b,0,

(C) NO,

m:' F‘ta!

w7 vt gt (i) W
(A] 5e0, o
{B) ALO,
{C) shlﬂ,
®) Big, &

mﬂ‘l {osmium) #1 Sl
BT e s e i

(A) +6
(B} +7
(C) »8
(D) +3

a4 g e s
27

(A) [Xe] 4" 5d%6s°
(B) [Xe] 4f7 5d' 6
(C) [Xe) 454" hs?
(D) [Xe] 4* 5d* 64
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Thie équivalent welght of K.Cr,Q, In
acid medium is equal 1o

(A) Molecilar Weight
1/2Molecnlar Weight

() 1/6Molecular Weight

(1) 1/5Molecular Weight

In LIAIH,, the ligand is
(A) H

(B} H

(© H

{D) None

Which of these: mtfiummﬂ
complexes does not.show geamemc
isomersm ! A pnd B e monodangate
ligands. -'::

. J

(&) IMAB] o ?; A\ 7

{B} IM@R‘L k']

¢ (CH)C MeBr with .0 gives

(A) (CH)LCD
(B) (CH,),COD
(€ (CDYCD
(D) (€P)oD

<l

5

e

e e B KGr, O, % shrem

W (equivalent weight) Fems w
TRt
{A) srmiEes w
(B) 172 svorfds ww
€y 16 e on
(D) 15 svnfEs v
LiAlH Fwmgieg (ligand) w3 2 $
(A} H" _"'-:1_-" _,"
= L
(8) H . %3
- '-""I" Ly _a
{m !T ..:‘ ]' F rl F
O FAAEEEA
¥ O T
i -"‘;I
= wan aYiew s
{zeomeltrical fssmeriam)
T w3 A TR R emTETRE e
imemodentate: lignnd) § 1
tA) IMABI
(H) TMAR] L
(C] IMAB,]
(D) MAS

(CH.LC MpBe ¥1 D, O % T
mmﬁﬁﬁmw-&mt?

(A) (CH) CD
(B) (CH,) COoD
(Cy (CD,),CD
My (€D, 0D
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The comrect nucleophibicity order is
(A} CHy<NHZI<HO <F
(B) CHi<HO <NH;<F
(C) CH;<F <HO <NH;
(D) F<HO™ < NH; <CHj

. The haloform reaction is not shown
by

(A} Acelime
(B) 2 - chlomprepane,
(C) Ethanal
(D) Methannl

Whilch ix thie strompiest ngid?

(A} CH=CH >

(B) CH, .

(C) CH.=CH,

D) 1CH, .

2, w.?lth gives aspirin  upen
agetylion’

{A) O - Hydroxy benzoic ncid

(B} m - Hydroxy benzois acid

{€) P - Hydmxy benzoic ucid

(D) P - dihydroxy beazoic acid

9, Ifem STEETRETOE WIS w
Ll

(A) CH7<NH;<HO <F~
(B) CH;<HO <NH<F
(€) CHj<F <HO <NH:

(D) F <HO < NH:<CH;]

10. ¥ # =iz E=iwid (Halofornt)
sl = i 7

(A) e o N

(B 2.wiioids . | .
(C) 3= |
(D) FREgier o,

S, e e 2
A CH=CH
(B) C,H,
(©) CH=CH,
®) CH,

12, TR B W m g wiiess om
wefafmam b ?
(A) O - TTERTT eTE® 30F
(B) m - Egnt dEE s
(C) P - pregi S5
(D) P - arErgrs e A
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